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HX 40,238 86,032 41,040 44,992
RIRET1T 6 15 9 6
RIRET2T 27 55 27 28
AIEET3T 180 584 281 303
RIRET4T 408 973 483 490
B 621 1,627 800 827
REH 2,711 6,074 2,818 3,256
L&A 4,336 9,405 4,378 5,027
5E 2,643 5,853 2,836 3,017
B AN 1,301 2,827 1,327 1,500
BERT 1,380 1,942 952 990
BER2T 845 1,455 709 746
BERST 682 1,618 776 842
B 2,907 5,015 2,437 2,578
BEXRE 278 644 312 332
= 2,204 4,909 2,338 2,571
hERE 643 1,426 660 766
e 2,463 5,032 2,435 2,597
25 L ET 2,340 5,069 2,429 2,640
B &AL BT 77 153 64 89
HEFILET1T 559 1,199 559 640
HEFILET2T 608 1,267 601 666
HEZFILAT3T 662 1,505 738 767
g 1,906 4,124 1,962 2,162
B & it B Fr ET 689 1,545 743 802
BHEREBET1T 574 1,146 560 586
BHERERET2T 760 1,713 827 886
BHERERETST 790 1,601 727 874
BHERERET4T 512 935 440 495
HEKERETST 827 1,663 794 869
HEERET6T 878 1,888 916 972
BHERERET7T 893 1,858 925 933
HERERETST 70 205 101 104
£t| 5304 11,009 5,290 5,719
HEF R FET 2,019 4,138 2014 2,124
S|EFET1T 632 1,573 783 790
S|EFET2T 780 1,753 824 929
S|EFET3 T 737 1,375 632 743
g 2,149 4,701 2,239 2,462
ERE1T 584 1,317 631 686
EIRET2T 393 1,040 517 523
EREIST 518 1,328 646 682
EIRETAT 688 1,446 644 802
EIZEIST 517 1,099 549 550
g 2,700 6,230 2,987 3,243
ME A 2917 6,209 2,944 3,265
J\THET1T 33 34 14 20
J\THET2T 24 55 28 27
J\THEI3T 50 106 49 57
B 107 195 91 104
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